



































































































































Circular rod

Ut KU xx

UL L.tk 4141
y BCUxl L.tk Uf t

UH o fix IC

0 U t

µ

Unit 41 1 GH

Boundary value problem

4 xp
91 4 914
411 4 4 ll



X O 0 1 1 a

X 0 41 1 C Hrd x f 25in x

04 1 fate sinfixtGMrax
414 41 y c nsraltasinral c.us L

the Sintra
z Sin Fil o

4114 4 ly 4 Sin DL O
eigenvalue

So sin tray o FIE ni d 111,2
n I L eigenfunctions 04 4 sis

fixe a t IT ancsshzxtnt.IT basin x

I.ir mExal i I n
J inhIxsinmIx g

Mtn

DX L m n o



I sinhIxusmI dx o

L

A fix dx
L

ah f fix ash dx
L

bn If fixisin ax

Idea behind separation of variables

iii c immense

Wx o fix inhomogeneous 1C

Ignore the inhomogeneous condition

Use homogeneous BC to solve a Boundaryvalue problem



Laplace equation in LD

Ex D fiance't c ya

hi sin

Uce 01 6

tetsinzoourtf rcrfehtf.LI
why

Wr Ok 410 Gbr See the graph at the
endon olio fm'M't f 44 5

rY 4 a

440k if
flat ok I

t't f't
So D h

12 42 eigenvalue no 4 L



h I L i Ion NX or sinnx

f RG d n

so r G t RG n Geo

Equidimensional ODE A G A rG

Azt's agr3gB

Glr rP 94mg

pip Dtp n o f In
h fo Giv 4th 14in
h 0 Glr C Missing one solution

Girt loyr
ur O tee to
Hot Bologrt EAnrnasnot Bnrnsia.no

hit n 4

1 NEE cnr nnsnotIIDnr hsio.no



Uli o Simo Hot Boro Anthysinno
t KntDn wind 9h20
htt

so A so Antonio
Cutlet Cmt Dm o V mt

2ULZ.ltfyf4sig2O
two 2h

Bo flege 1 IAfnetcneYsinno
to h't

1 I e tone n Cosmo
h 1

6 1 Hsiao

so Bo 2 6 Ane tCnE o

Geht Dietze cnn.cm 3me
m

oVm t2
so He 3 An _4 0 4 1 Dz 0

Can _Dm O Hm 42



Ucr 0k36gr tr's in 20


